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1 We knowthat arc tan x x 等⼀ it Ǘ
when x 1 arctan 1 Ě since tanǗH
So 瓦 4 1 j j t t j____
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Thefirst to non zero terms
Error 9并丢

2 let Aaron ⽣ B arctan信 So tanA tanB⼆号

tan AtB ⼆恐朚 t器 ⼆来意 ⼆ 1

Since Ac Ě a BCĚ then A 13 Ǐ
we prove that arc tan Ìtarctanj 弐

2 arctanjtarc.tn ⼆ 年 arctanl

⽆⼆千 arctan 1 千七
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4 1 jtj.it 这⼀

new
50 terms

忐⼆ 0.0099 two digitsafterthedecimalpoint
49

So ⺎ H 1
no zn 1 23.12

3 ⺎ 4 4arctanj arc.tn Éq 3.14



系⼼520兴 绿
5 9 3 售器 if 是12.96911

⺎⼩ 薇 3.14159

it at least agree with 3，14159


